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2018 July Cisco 100-105 Dumps with PDF and VCE New Version Updated Today! Following are some new 100-105 Real Exam
Questions:QUESTION 111What are two enhancements that OSPFv3 supports over OSPFv2? (Choose two.)A. It requires the use
of ARP.B. It can support multiple IPv6 subnetson asingle link.C. It supports up to 2 instances of OSPFv3 over acommon link.
D. Itroutesover linksrather than over networks.Answer: BDExplanation:QUESTION 112What Netflow component can be
applied to an interface to track |Pv4 traffic?A.  flow monitorB. flow recordC. flow samplerD. flow exporterAnswer: A
Explanation: QUESTION 113What are three benefits of GLBP? (Choose three.)A. GLBP supports up to eight virtual forwarders
per GLBP group.B. GLBP supports clear text and MD5 password authentication between GLBP group members.C. GLBPisan
open source standardized protocol that can be used with multiple vendors.D.  GLBP supports up to 1024 virtual routers.E. GLBP
can load share traffic across a maximum of four routers.F. GLBP elects two AV Gs and two standby AV Gs for
redundancy.Answer: BDEExplanation:QUESTION 114What command visualizes the general NetFlow data on the command
line?A. show ip flow exportB. show ip flow top-talkersC. show ip cache flowD. show mlssamplingE. show mls netflow
ipAnswer: CExplanation: QUESTION 115What are three reasons to collect Netflow data on a company network? (Choose three.)A.
To identify applications causing congestion.B.  To authorize user network access.C. To report and alert link up / down instances.
D. Todiagnose slow network performance, bandwidth hogs, and bandwidth utilization.E.  To detect suboptimal routing in the
network.F.  To confirm the appropriate amount of bandwidth that has been allocated to each Class of Service Answer: ADF
Explanation: QUESTION 116What are three factors a network administrator must consider before implementing Netflow in the
network? (Choose three)A. CPU utilizationB. where Netflow datawill be sentC. number of devices exporting Netflow dataD.

port availahilityE. SNMP versionF. WAN encapsulationAnswer: ABCExplanation:QUESTION 117What are the benefit of
using Netflow? (Choose three.)A.  Network, Application & User MonitoringB. Network PlanningC.  Security AnalysisD.
Accounting/BillingAnswer: ACDExplanation:QUESTION 118What are the three things that the Netflow uses to consider the traffic
tobeinasameflow?A. IPaddressB. Interface nameC. Port numbersD. L3 protocol typeE. MAC addressAnswer: ACD

QUESTION 119Which three are the components of SNMP? (Choose three)A. MIBB. SNMP ManagerC. SysLog ServerD.
SNMP AgentE.  SetAnswer: ABDQUESTION 120What are the Popular destinations for syslog messages to be saved?A. FlashB.

Thelogging buffer RAMC. TheconsoleterminaD. Other terminalsE. Syslog serverAnswer: BCEQUESTION 121Syslog
was configured with alevel 3 trap. Which 3 types of logs would be generated (choose three)A. EmergenciesB. AlertsC.

CriticaD. ErrorsE.  WarningsAnswer: ABC!!RECOMMEND!!!1.|]2018 Latest 100-105 Exam Dumps (PDF & V CE) 649Q Free
Download: https://www.braindump2go.com/100-105.html 2.[2018 Latest 100-105 Exam Questions & Answers Free
Download:https://drive.google.com/drive/folders/OB75b5xY Lj SSNZW1Fd3pCZzBV L Ws?usp=sharing

Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com | Pagel/1 |


http://www.hitachidumps.com/?p=9951
http://www.profprojects.com/?page=upm

